This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - West Mainland Ward

1,833

367

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Rachael Anne KING	Independent	477
Sean LEWIS	Independent	64
Jean STEVENSON	Independent	284
Owen TIERNEY	Independent	554
Duncan TULLOCK	Independent	237
Helen WOODSFORD-DEAN	Scottish Greens	217
	Total	1,833

Candidate Rachael Anne KING Elected with 477 votes, being in excess of the quota of 367 Candidate Owen TIERNEY Elected with 554 votes, being in excess of the quota of 367

This report contains the transfers results.

Stage 2 - Surplus of Owen TIERNEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sean LEWIS	21	0.33754	7.08834
Transfer to Jean STEVENSON	203	0.33754	68.52062
Transfer to Duncan TULLOCK	227	0.33754	76.62158
Transfer to Helen WOODSFORD-DEAN	27	0.33754	9.11358
No further preference	76	0.33754	25.65304
Not transferred due to rounding			0.00284
	Total		187.00000

This report contains the transfers results.

Stage 3 - Surplus of Rachael Anne KING

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sean LEWIS	33	0.23060	7.60980
Transfer to Jean STEVENSON	213	0.23060	49.11780
Transfer to Duncan TULLOCK	107	0.23060	24.67420
Transfer to Helen WOODSFORD-DEAN	73	0.23060	16.83380
No further preference	51	0.23060	11.76060
Not transferred due to rounding			0.00380
	Total		110.00000

This report contains the transfers results.

Stage 4 - Surplus of Jean STEVENSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sean LEWIS	39	0.08624	3.36336
Transfer to Duncan TULLOCK	135	0.08624	11.64240
Transfer to Helen WOODSFORD-DEAN	43	0.08624	3.70832
Transfer to Sean LEWIS	22	0.02911	0.64042
Transfer to Duncan TULLOCK	107	0.02911	3.11477
Transfer to Helen WOODSFORD-DEAN	18	0.02911	0.52398
Transfer to Sean LEWIS	22	0.01988	0.43736
Transfer to Duncan TULLOCK	83	0.01988	1.65004
Transfer to Helen WOODSFORD-DEAN	49	0.01988	0.97412
No further preference	67	0.08624	5.77808
No further preference	56	0.02911	1.63016
No further preference	59	0.01988	1.17292
Not transferred due to rounding			0.00249
	Total		34.63842

This report contains the transfers results.

Stage 5 - Exclusion of Sean LEWIS

- 1.9			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Duncan TULLOCK	22	1.00000	22.00000
Transfer to Helen WOODSFORD-DEAN	25	1.00000	25.00000
Transfer to Duncan TULLOCK	8	0.33754	2.70032
Transfer to Helen WOODSFORD-DEAN	2	0.33754	0.67508
Transfer to Duncan TULLOCK	8	0.23060	1.84480
Transfer to Helen WOODSFORD-DEAN	9	0.23060	2.07540
Transfer to Duncan TULLOCK	23	0.08624	1.98352
Transfer to Helen WOODSFORD-DEAN	6	0.08624	0.51744
Transfer to Duncan TULLOCK	10	0.02911	0.29110
Transfer to Helen WOODSFORD-DEAN	1	0.02911	0.02911
Transfer to Duncan TULLOCK	8	0.01988	0.15904
Transfer to Helen WOODSFORD-DEAN	5	0.01988	0.09940
No further preference	17	1.00000	17.00000
No further preference	11	0.33754	3.71294
No further preference	16	0.23060	3.68960
No further preference	10	0.08624	0.86240
No further preference	11	0.02911	0.32021
No further preference	9	0.01988	0.17892
Not transferred due to rounding			0.00000
	Total		83.13928